

Products and sums of m –symmetric and skew m –symmetric operators

Souhaib Djaballah, Department of Mathematics, University of El-oed.

Conference of Advances in Operator Theory and Inequalities

01-02 November 2025

Outlines

1 Introduction

2 Main results

3 References

Introduction

Let $\mathcal{H}$ be a complex Hilbert space, and let $\mathcal{B}(\mathcal{H})$ denote to the algebra of all bounded linear operators on $\mathcal{H}$. For every $T \in \mathcal{B}(\mathcal{H})$, we denote by T^* the adjoint of T . Throughout this paper $\mathbb{N}$ denotes the set of strictly positive integer numbers i.e., $\mathbb{N} = \{1, 2, 3, \dots\}$.

Introduction

Let $\mathcal{H}$ be a complex Hilbert space, and let $\mathcal{B}(\mathcal{H})$ denote to the algebra of all bounded linear operators on $\mathcal{H}$. For every $T \in \mathcal{B}(\mathcal{H})$, we denote by T^* the adjoint of T . Throughout this paper $\mathbb{N}$ denotes the set of strictly positive integer numbers i.e., $\mathbb{N} = \{1, 2, 3, \dots\}$.

An operator $T \in \mathcal{B}(\mathcal{H})$ is said to be m -symmetric for some $m \in \mathbb{N}$ if

$$\sum_{k=0}^m (-1)^{m-k} \binom{m}{k} T^{*(m-k)} T^k = 0,$$

where $\binom{m}{k}$ is the binomial coefficient.

Introduction

Let $\mathcal{H}$ be a complex Hilbert space, and let $\mathcal{B}(\mathcal{H})$ denote to the algebra of all bounded linear operators on $\mathcal{H}$. For every $T \in \mathcal{B}(\mathcal{H})$, we denote by T^* the adjoint of T . Throughout this paper $\mathbb{N}$ denotes the set of strictly positive integer numbers i.e., $\mathbb{N} = \{1, 2, 3, \dots\}$.

An operator $T \in \mathcal{B}(\mathcal{H})$ is said to be m -symmetric for some $m \in \mathbb{N}$ if

$$\sum_{k=0}^m (-1)^{m-k} \binom{m}{k} T^{*(m-k)} T^k = 0,$$

where $\binom{m}{k}$ is the binomial coefficient. The authors in [3] showed the if $T, S \in \mathcal{B}(\mathcal{H})$ are double commuting operators i.e., $TS = ST$ and $T^*S = ST^*$ such that T is m -symmetric and S is n -symmetric, then TS and $T + S$ are $(m + n - 1)$ -symmetric.

$T \in \mathcal{B}(\mathcal{H})$ is said to be skew m -symmetric for some $m \in \mathbb{N}$ if it satisfies

$$\sum_{k=0}^m \binom{m}{k} T^{*(m-k)} T^k = 0.$$

$T \in \mathcal{B}(\mathcal{H})$ is said to be skew m -symmetric for some $m \in \mathbb{N}$ if it satisfies

$$\sum_{k=0}^m \binom{m}{k} T^{*(m-k)} T^k = 0.$$

It is proved in [1] that if $T, S \in \mathcal{B}(\mathcal{H})$ are double commuting operators such that T is skew m -symmetric and S is skew n -symmetric, then TS is $(m + n - 1)$ -symmetric and $T + S$ is skew $(m + n - 1)$ -symmetric.

$T \in \mathcal{B}(\mathcal{H})$ is said to be skew m -symmetric for some $m \in \mathbb{N}$ if it satisfies

$$\sum_{k=0}^m \binom{m}{k} T^{*(m-k)} T^k = 0.$$

It is proved in [1] that if $T, S \in \mathcal{B}(\mathcal{H})$ are double commuting operators such that T is skew m -symmetric and S is skew n -symmetric, then TS is $(m + n - 1)$ -symmetric and $T + S$ is skew $(m + n - 1)$ -symmetric. For $T \in \mathcal{B}(\mathcal{H})$, set

$$\alpha_m(T) = \sum_{k=0}^m (-1)^{m-k} \binom{m}{k} T^{*(m-k)} T^k.$$

And

$$\delta_m(T) = \sum_{k=0}^m \binom{m}{k} T^{*(m-k)} T^k.$$

For $T, S \in \mathcal{B}(\mathcal{H})$, consider the operators $L_T, R_S \in \mathcal{B}(\mathcal{B}(\mathcal{H}))$ given by

$$L_T : X \mapsto TX, \quad R_S : X \mapsto XS,$$

i.e., L_T is the left multiplication by T on $\mathcal{B}(\mathcal{H})$ and R_S is the right multiplication by S on $\mathcal{B}(\mathcal{H})$. Note that L_T and R_S commute even though it may be the case that T and S do not commute. Moreover, for any $k \in \mathbb{N}$, we have

$$L_T^k = L_{T^k}, \quad R_S^k = R_{S^k}.$$

For $T, S \in \mathcal{B}(\mathcal{H})$, consider the operators $L_T, R_S \in \mathcal{B}(\mathcal{B}(\mathcal{H}))$ given by

$$L_T : X \mapsto TX, \quad R_S : X \mapsto XS,$$

i.e., L_T is the left multiplication by T on $\mathcal{B}(\mathcal{H})$ and R_S is the right multiplication by S on $\mathcal{B}(\mathcal{H})$. Note that L_T and R_S commute even though it may be the case that T and S do not commute. Moreover, for any $k \in \mathbb{N}$, we have

$$L_T^k = L_{T^k}, \quad R_S^k = R_{S^k}.$$

Let $T, X \in \mathcal{B}(\mathcal{H})$. Then for any $m \in \mathbb{N}$, we obtain

$$\begin{aligned} (L_{T^*} - R_T)^m(X) &= \sum_{k=0}^m (-1)^k \binom{m}{k} L_{T^*}^{(m-k)} R_T^k(X) \\ &= \sum_{k=0}^m (-1)^k \binom{m}{k} L_{T^*(m-k)} R_{T^k}(X) \\ &= \sum_{k=0}^m (-1)^k \binom{m}{k} L_{T^*(m-k)}(XT^k) \end{aligned}$$

$$= \sum_{k=0}^m (-1)^k \binom{m}{k} T^{*(m-k)} X T^k.$$

Therefore,

$$T \text{ is an } m\text{--symmetric operator} \iff (L_{T^*} - R_T)^m(I) = 0.$$

Similarly,

$$T \text{ is an skew } m\text{--symmetric operator} \iff (L_{T^*} + R_T)^m(I) = 0.$$

Main results

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\alpha_m(TS) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^i T^{*k} S^{*(k-i)} \alpha_{m-k}(T) S^{m-k+i} \\ &= \sum_{k=0}^m \sum_{i=0}^{m-k} \binom{m}{k} \binom{m-k}{i} (-1)^i T^{*(m-i)} \alpha_k(S) T^i S^{m-k}.\end{aligned}$$

Main results

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\alpha_m(TS) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^i T^{*k} S^{*(k-i)} \alpha_{m-k}(T) S^{m-k+i} \\ &= \sum_{k=0}^m \sum_{i=0}^{m-k} \binom{m}{k} \binom{m-k}{i} (-1)^i T^{*(m-i)} \alpha_k(S) T^i S^{m-k}.\end{aligned}$$

Proof

Note that

$$\begin{aligned}(y_1 y_2 - x_1 x_2)^m &= \left((y_1 - x_1) x_2 + y_1 (y_2 - x_2) \right)^m \\ &= \sum_{k=0}^m \binom{m}{k} y_1^k (y_2 - x_2)^k x_2^{m-k} (y_1 - x_1)^{m-k}.\end{aligned}$$

Since T and S are commuting, we obtain

$$R_{TS} = R_S R_T = R_T R_S$$

$$L_{(TS)^*} = L_{T^*} L_{S^*} = L_{S^*} L_{T^*}.$$

Therefore,

$$R_S(L_{T^*} - R_T) = (L_{T^*} - R_T)R_S$$

$$L_{T^*}(L_{S^*} - R_S) = (L_{S^*} - R_S)L_{T^*}.$$

Hence

$$\begin{aligned}\alpha_m(TS) &= (L_{(TS)^*} - R_{TS})^m(I) \\ &= (L_{T^*} L_{S^*} - R_T R_S)^m(I) \\ &= \sum_{k=0}^m \binom{m}{k} L_{T^*}^k (L_{S^*} - R_S)^k R_S^{m-k} (L_{T^*} - R_T)^{m-k}(I) \\ &= \sum_{k=0}^m \binom{m}{k} L_{T^*}^k (L_{S^*} - R_S)^k (\alpha_{m-k}(T) S^{m-k}).\end{aligned}$$

Observe that

$$\begin{aligned}(L_{S^*} - R_S)^k(\alpha_{m-k}(T)S^{m-k}) &= \sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^{m-k} S^i \\ &= \sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^{m-k+i}.\end{aligned}$$

Thus

$$\alpha_m(TS) = \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^i T^{*k} S^{*(k-i)} \alpha_{m-k}(T) S^{m-k+i}.$$

On the other hand, we have

$$\sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^{m-k+i}$$

$$= \sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} \left(\sum_{j=0}^{m-k} \binom{m-k}{j} (-1)^j T^{*(m-k-j)} T^j \right) S^{m-k+i}$$

$$= \sum_{i=0}^k \sum_{j=0}^{m-k} \binom{k}{i} \binom{m-k}{j} (-1)^i (-1)^j S^{*(k-i)} T^{*(m-k-j)} T^j S^{m-k+i}$$

$$= \sum_{j=0}^{m-k} \binom{m-k}{j} (-1)^j T^{*(m-k-j)} \left(\sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} S^i \right) T^j S^{m-k}$$

$$= \sum_{j=0}^{m-k} \binom{m-k}{j} (-1)^j T^{*(m-k-j)} \alpha_k(S) T^j S^{m-k}.$$

Therefore,

$$\begin{aligned} & \sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^{m-k+i} \\ &= \sum_{j=0}^{m-k} \binom{m-k}{j} (-1)^j T^{*(m-k-j)} \alpha_k(S) T^j S^{m-k}. \end{aligned}$$

Hence

$$\alpha_m(TS) = \sum_{k=0}^m \sum_{j=0}^{m-k} \binom{m}{k} \binom{m-k}{j} (-1)^j T^{*(m-j)} \alpha_k(S) T^j S^{m-k}.$$

As desired.

Theorem

Suppose that $T, S \in \mathcal{B}(\mathcal{H})$ are commuting operators. If T is m -symmetric and S is n -symmetric, thus TS is an $(m + n - 1)$ -symmetric operator.

Theorem

Suppose that $T, S \in \mathcal{B}(\mathcal{H})$ are commuting operators. If T is m -symmetric and S is n -symmetric, thus TS is an $(m + n - 1)$ -symmetric operator.

Proof

Set $r = m + n - 1$. It follows from the last Lemma that

$$\begin{aligned}\alpha_r(TS) &= \sum_{k=0}^{n-1} \sum_{i=0}^k \binom{r}{k} \binom{k}{i} (-1)^i T^{*k} S^{*(k-i)} \alpha_{r-k}(T) S^{r-k+i} \\ &\quad + \sum_{k=n}^r \sum_{i=0}^{r-k} \binom{r}{k} \binom{r-k}{i} (-1)^i T^{*(r-i)} \alpha_k(S) T^i S^{r-k}.\end{aligned}$$

- Since T is m -symmetric, then for every $0 \leq k \leq n - 1$, we have

$$\alpha_{m+n-1-k}(T) = 0.$$

Hence

$$\sum_{k=0}^{n-1} \sum_{i=0}^k \binom{r}{k} \binom{k}{i} (-1)^i T^{*k} S^{*(k-i)} \alpha_{r-k}(T) S^{r-k+i} = 0.$$

- Since S is n -symmetric, thus for any $n \leq k \leq m + n - 1$, we have

$$\alpha_k(S) = 0,$$

then

$$\sum_{k=n}^r \sum_{i=0}^{r-k} \binom{r}{k} \binom{r-k}{i} (-1)^i T^{*(r-i)} \alpha_k(S) T^i S^{r-k} = 0.$$

Therefore,

$$\alpha_{m+n-1}(TS) = 0.$$

As required.

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\alpha_m(T + S) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^i \\ &= \sum_{k=0}^m \sum_{i=0}^{m-k} \binom{m}{k} \binom{m-k}{i} (-1)^i T^{*(m-k-i)} \alpha_k(S) T^i.\end{aligned}$$

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\alpha_m(T + S) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^i \\ &= \sum_{k=0}^m \sum_{i=0}^{m-k} \binom{m}{k} \binom{m-k}{i} (-1)^i T^{*(m-k-i)} \alpha_k(S) T^i.\end{aligned}$$

Proof

Since $TS = ST$, we get

$$(L_{T^*} - R_T)(L_{S^*} - R_S) = (L_{S^*} - R_S)(L_{T^*} - R_T).$$

Therefore,

$$\begin{aligned}\alpha_m(T + S) &= (L_{T^*+S^*} - R_{T+S})^m(I) \\ &= (L_{T^*} - R_T + L_{S^*} - R_S)^m(I) \\ &= \sum_{k=0}^m \binom{m}{k} (L_{S^*} - R_S)^k (L_{T^*} - R_T)^{m-k}(I) \\ &= \sum_{k=0}^m \binom{m}{k} (L_{S^*} - R_S)^k (\alpha_{m-k}(T)) \\ &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^i.\end{aligned}$$

On the other hand

$$\sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^i$$

$$= \sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} \left(\sum_{j=0}^{m-k} \binom{m-k}{j} (-1)^j T^{*(m-k-j)} T^j \right) S^i$$

$$= \sum_{i=0}^k \sum_{j=0}^{m-k} \binom{k}{i} \binom{m-k}{j} (-1)^i (-1)^j S^{*(k-i)} T^{*(m-k-j)} T^j S^i$$

$$= \sum_{j=0}^{m-k} \binom{m-k}{j} (-1)^j T^{*(m-k-j)} \left(\sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} S^i \right) T^j$$

$$= \sum_{j=0}^{m-k} \binom{m-k}{j} (-1)^j T^{*(m-k-j)} \alpha_k(S) T^j.$$

Hence

$$\begin{aligned} & \sum_{i=0}^k \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{m-k}(T) S^i \\ &= \sum_{j=0}^{m-k} \binom{m-k}{j} (-1)^j T^{*(m-k-j)} \alpha_k(S) T^j. \end{aligned}$$

Thus

$$\alpha_m(T + S) = \sum_{k=0}^m \sum_{i=0}^{m-k} \binom{m}{k} \binom{m-k}{i} (-1)^i T^{*(m-k-i)} \alpha_k(S) T^i.$$

As desired.

Theorem

Suppose that $T, S \in \mathcal{B}(\mathcal{H})$ are commuting operators. If T is m -symmetric and S is n -symmetric, thus $T + S$ is an $(m + n - 1)$ -symmetric operator.

Theorem

Suppose that $T, S \in \mathcal{B}(\mathcal{H})$ are commuting operators. If T is m -symmetric and S is n -symmetric, thus $T + S$ is an $(m + n - 1)$ -symmetric operator.

Proof

Set $r = m + n - 1$. By the last Lemma, we have

$$\begin{aligned}\alpha_r(T + S) &= \sum_{k=0}^{n-1} \sum_{i=0}^k \binom{r}{k} \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{r-k}(T) S^i \\ &\quad + \sum_{k=n}^r \sum_{i=0}^{r-k} \binom{r}{k} \binom{r-k}{i} (-1)^i T^{*(r-k-i)} \alpha_k(S) T^i.\end{aligned}$$

- Since T is m -symmetric, then for every $0 \leq k \leq n - 1$, we have

$$\alpha_{m+n-1-k}(T) = 0.$$

Hence

$$\sum_{k=0}^{n-1} \sum_{i=0}^k \binom{m+n-1}{k} \binom{k}{i} (-1)^i S^{*(k-i)} \alpha_{r-k}(T) S^i = 0.$$

- Since S is n -symmetric, thus for any $n \leq k \leq m+n-1$, we have

$$\alpha_k(S) = 0,$$

then

$$\sum_{k=n}^r \sum_{i=0}^{r-k} \binom{r}{k} \binom{r-k}{i} (-1)^i T^{*(r-k-i)} \alpha_k(S) T^i = 0.$$

Therefore,

$$\alpha_{m+n-1}(T+S) = 0.$$

This completes the proof.

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\delta_m(TS) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^{m-k} T^{*k} S^{*(k-i)} \alpha_{m-k}(T) S^{m-k+i} \\ &= \sum_{k=0}^m \sum_{j=0}^{m-k} \binom{m}{k} \binom{m-k}{j} (-1)^{m-k+j} T^{*(m-j)} \delta_k(S) T^j S^{m-k}.\end{aligned}$$

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\delta_m(TS) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^{m-k} T^{*k} S^{*(k-i)} \alpha_{m-k}(T) S^{m-k+i} \\ &= \sum_{k=0}^m \sum_{j=0}^{m-k} \binom{m}{k} \binom{m-k}{j} (-1)^{m-k+j} T^{*(m-j)} \delta_k(S) T^j S^{m-k}.\end{aligned}$$

Proof

The following identities follows from the binomial theorem

$$\begin{aligned}(y_1 y_2 + x_1 x_2)^m &= (y_1(y_2 + x_2) - (y_1 - x_1)x_2)^m \\ &= \sum_{k=0}^m \binom{m}{k} (-1)^{m-k} y_1^k (y_2 + x_2)^k x_2^{m-k} (y_1 - x_1)^{m-k}.\end{aligned}$$

Proceeding as the previous lemmas, we get the desired result.

Theorem

Suppose that $T, S \in \mathcal{B}(\mathcal{H})$ are commuting operators. If T is m -symmetric and S is skew n -symmetric, thus TS is a skew $(m + n - 1)$ -symmetric operator.

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\alpha_m(TS) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^{m-k} T^{*k} S^{*(k-i)} \delta_{m-k}(T) S^{m-k+i} \\ &= \sum_{k=0}^m \sum_{j=0}^{m-k} \binom{m}{k} \binom{m-k}{j} (-1)^{m-k} T^{*(m-j)} \delta_k(S) T^j S^{m-k}.\end{aligned}$$

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\alpha_m(TS) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} (-1)^{m-k} T^{*k} S^{*(k-i)} \delta_{m-k}(T) S^{m-k+i} \\ &= \sum_{k=0}^m \sum_{j=0}^{m-k} \binom{m}{k} \binom{m-k}{j} (-1)^{m-k} T^{*(m-j)} \delta_k(S) T^j S^{m-k}.\end{aligned}$$

Proof

The following identities follows from the binomial theorem

$$\begin{aligned}(y_1 y_2 - x_1 x_2)^m &= (y_1(y_2 + x_2) - (y_1 + x_1)x_2)^m \\ &= \sum_{k=0}^m \binom{m}{k} (-1)^{m-k} y_1^k (y_2 + x_2)^k x_2^{m-k} (y_1 + x_1)^{m-k}.\end{aligned}$$

Proceeding as the previous lemmas, we get the desired result.

Theorem

Suppose that $T, S \in \mathcal{B}(\mathcal{H})$ are commuting operators. If T is skew m -symmetric and S is skew n -symmetric, thus TS is an $(m + n - 1)$ -symmetric operator.

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\delta_m(T + S) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} S^{*(k-i)} \delta_{m-k}(T) S^i \\ &= \sum_{k=0}^m \sum_{i=0}^{m-k} \binom{m}{k} \binom{m-k}{i} T^{*(m-k-i)} \delta_k(S) T^i.\end{aligned}$$

Lemma

Let $T, S \in \mathcal{B}(\mathcal{H})$ be commuting operators. Then for every $m \in \mathbb{N}$, we have

$$\begin{aligned}\delta_m(T + S) &= \sum_{k=0}^m \sum_{i=0}^k \binom{m}{k} \binom{k}{i} S^{*(k-i)} \delta_{m-k}(T) S^i \\ &= \sum_{k=0}^m \sum_{i=0}^{m-k} \binom{m}{k} \binom{m-k}{i} T^{*(m-k-i)} \delta_k(S) T^i.\end{aligned}$$

Proof

Since $TS = ST$, we get

$$(L_{T^*} + R_T)(L_{S^*} + R_S) = (L_{S^*} + R_S)(L_{T^*} + R_T).$$

The following identities follows from the binomial theorem

$$(y_1 + y_2 + x_1 + x_2)^m = \sum_{k=0}^m \binom{m}{k} (y_2 + x_2)^k (y_1 + x_1)^{m-k}.$$

Proceeding as the previous lemmas, we get the desired result.

Theorem

Suppose that $T, S \in \mathcal{B}(\mathcal{H})$ are commuting operators. If T is skew m -symmetric and S is skew n -symmetric, thus $T + S$ is a skew $(m + n - 1)$ -symmetric operator.

-  S. Djaballah, M. Guesba, On the class of n -quasi- m -symmetric operators, Proc. Inst. Math. Mech., 50(2) (2024), 200-212.
-  S. Djaballah, M. Guesba, The notion of ∞ -invertibility and ∞ -isometric operators. Acta Sci. Math. (Szeged) (2025).
<https://doi.org/10.1007/s44146-025-00194-6>.
-  C. Gu, M. Stankus. Some results on higher order isometries and symmetries: Products and sums a nilpotent operator. Linear Algebra Appl. 469(2015), 500-509.

Thanks for your attention